


What is a formula?

A mathem atical relationship or rule that links variables.

What is a linear sequence?

To find the rule that
[inks the numbers
study the gaps.

3 5 /
-3 —6

1
3 0

4 8 4 4
5 s 15 13

The rule is:

The sth terma [s:




Write the first six terms.
20 — 4n

3n + 1

2n
10




Finding the nth term

Sometimes, rather than finding the next number 1IN a2 inear sequence, you

want to find the 415% number, or 110th number, sawy.

WHting out 41 or 110 numbers takes a long time, so youw can use a general

rule,

To find the walue of any term in a sequence, use the nt™ term rule.

what is the n'™ term of this sequence?

+5 +5
5 =10, «15 ...




what are the n™ term and the 10" term of this sequence: 2, 4, 6, ... 7




More on finding the nth term

So the sequence of numbers in the 5 times table has a commaon difference of 5

and an nt" term of 5n.

+5 +5

5, 10, 15 ...

But what happens iIf things get more complicated?

+5 +5

7. 12,  17..



Question

What is the n™ term of the Sequence: 8, 11, 14, ... 7

+3 +3
8, 11, 14..



£\

Write the first six numbers
in each sequence,

Start at Rule

Q 5 +9

@ z -
© +0-5
O 15 -20
© -0 +3
Q o -4
Complete each sequence.
@15 175 2 | |
3 13 2]

@ 100 | |302 403

(12} 68 56 44

Fill in the boxes. Give the

rule for the nth term.

© 4 4261 80

® 3528188

Write the first six terms for
each sequence.

e?—.Zn
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Look at the above pattern.
Write down:

@ the 7th term
@ the 11th term
@ the 20th term

@ a rule for the nth term.

O0CCOCCO
Look at the pattern of
beads. What colour is:

® the 15th bead
@ the 33rd bead
D the 50th bead
(D the 100th bead?



Write the next 3 numbers.

Give the rule for the nth
term.

@ 2753848559
© 200 178 156 134
© 10741

© 100 81 64 49
© 11222
067523722

Write down a formula
for the nth term of each
pattern.

€@ 11 2233 44 55
©4+7101316

© 5 -10-15-20-25

®-1-3-5-7-9

@Po1061116

1 2 1
@ ;245!
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Look at the pattern of
beads. What colour is:

@ the 20th bead
@ the 50th bead
D the 80th bead
@ the 100th bead?
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AA
157 66 75 84 93 102
1
2212121313 15
3335445555
4150 130 110 90 70 50
§=105-7724, =1 2 S
61062 -2 -6 -10
1321 14 33

B
1-12 -7 -238
2010407113

) 18 8 1 1
3:z31l31;

4-1-3 -5 -7 -9 11
54 23 42 61 80
63828188 -2 12
A g B
812113132
9-4-3-2-101
105 8 11 14 17 20
11051152253
1220 —2 ~4.-6 =8

14 red

13 yellow

15 60 16 31
5n—17

3n _ o.

10 0-2

n

4

1-—2n

19n — 15

48 — 10n

15 red 16 yellow




